HREREER BEET —SR (AKRA) RS

SHISECH
E=E] & B | ki AR B 5% FE REF FafE | REAEISI wE
Myhob-y[HEERE" 7 B mLEEH4.9tB [=] * * * * * * * *
FYOIL-IBEARES 7" B - ~EER] _LAES1100tH =] * * * * * * * *
NyoIL-IHRERREY 7 B - ~EER] mLEEH120tH B * * * * * * * *
FYOIL-IEEARES 7 B - ~EER] R LAEI160tH =] * * * * * * * *
by -I B ARES T B - ~{EEE] B _LAES200tH =] * * * * * * * *
by DIL-o [ ARES " 7 B f_LAEI360tH =] * * * * * * * *
377V=IIb=I[REARHES " 7 B - ~ARER - HEG B (~2)R)] B_LEEN4.o9tB H * * * * * * * *
FIFV=IHb-I[CHIEAREY" 7 BY - ~EER - A (~1R)] LN 7tR =] - - - - - - - -
II7V=YH-I [CRIEARES 7 BY - ~EER - BB (~2iR)] m_LEEN16tR =] * * * * * * * *
F7b-Y9b-I[EEARES ) B - ~MRER - R B (~2)R)] m_LEESI20tH =] * * * * * * * *
IIFV=YHV-ICRIEARES 7 B - ~RER- HEEL(~2011)] | LEES25tR =] * * * * * * * *
37b-Y9b-I[ AR 7 B - ~MKER - R B (~2)R)] m_EBESI35tm =] * * * * * * * *
IIFV=YHb-I CRIEARES " 7 BY - ~EER - B R (~2iR)] B _LAES50tR =] * * * * * * * *
37b-Y9b-Y RS ) B - ~MRER - R EL (~ 1IR)] m_EEES10tH =] * * * * * * * *
II7V=YHV-I [CHIERES " 7 BY - ~EER - B R (~1R)] m_LHESA5tR =] * * * * * * * *
37b-Y9b-Y RS ) B - ~MKER - R B (~2)R)] m_EBES60tH =] * * * * * * * *
377V-YIb -y EARES " 7 B - ~RER - HEEL(~21R)] m_EREN 70t =] x(@) x(@) x(@) (@) (@) *x(®) *(®) x(®)
J0-39V-ISEEBFEITO40F - 5FAY" 7" - ~ARER - HE(~ 1IR) ] m_LAEH35tM =] - - - - - - - -
h0-39b-SRIEBRENTNI4F - 5FAS" T - KSR - HE(~2)R)] m_LEES40tR H - - - - - - N N
I0-39v-y EERFEITNO1VF - 5FAY T - ~RER - HE(~2K)] m_ERESI50tH =] * * * * * * * *
I0-39b- [SRIEBRENTNI4F - 5FAS" T - KSR - HE(~2IR)] B LEES 100t =] * * * * * * * *
I0-79v-y CEERFEITNO1VF - 5FAS T - ~RER - HE(~2K) ] m_EBESI55tm A * * * * * * * *
I0-39b- REBRENITNI4F - 5FRS" T - KSR - HE(~2IR)] B _LAEN65tR =] * * * * * * * *
J0-39V-ISEEBFEITO40F - 5FA3" 7" - ~ARER - HE(~20R) ] f_LAES1200tH =] * * * * * * * *
I0-39b-[SRIEBRENTNI4F - FFAS" T - KSR - HE(~2IR)] B _LAEH80tR =] * * * * * * * *
I0-79v-y EERFEITNI1VF - 5FAY T - ~RER - HE(~2)R) ] m_EBESI150tm H * * * * * * * *
0-39b-y[ERES " 7 B - ~RER - HEXT (~3R)] B_LEEHS.OtF =] * * * * * * * *
FENFE[ DEFE) - ~EER - HEWEY(~2)R)] EEE=8kva =] * * * * * * * *
FEBFEEME DBRE) - ~KBE - HEBL(~2R)] EIEB=10kva H * * * * * * * *
FEBNFEEME DERED - ~BIK - HEBY(~31R)] EAZSE15kva =] * * * * * * * *
FEBFEEME[ DERE) - ~HBIK - HEEL(~3R)] EIEE=20kva H * * * * * * * *
FEBNFEEME DERED - ~BIK - HEWBY(~31R)] EARSE25kva =] * * * * * * * *
FEBFEEM[ DERE) - ~HBIK - HE B (~1R)] EIEB=E35kva H * * * * * * * *
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FEFRE] DEFS) - ~BIK - HEWEY(~31R)] EARS245kva H * * * * * * * *
FEEFEEME[ DERE) - ~HBIK - HEWEL(~3R)] EIEB=60kva =] * * * * * * * *
FEFREH] DEFE) - ~BIK - HEEY(~31R)] EARBE275kva H * * * * * * * *
FEBFEEME[ DBRED - ~HBIK - HEXBY(~3R)] EAZEE100kva =] * * * * * * * *
FEFRE[ DEFE) - ~BIK - JEEY(~3R)] EIEBE125kva H * * * * * * * *
FEBFEEME[ DBRED - ~BIK - HEXBY(~3R)] EAZEE150kva =] * * * * * * * *
RENFEEAE[ D BREN - ~KER - HEXBY(~2)K)] EI§E=200kva = * * * * * * * *
FEBFEEME DBRED - ~K5E - HEXBY(~2)R) ] EAZEE250kva =] * * * * * * * *
RENFEEAE[ D BREN - ~KER - HEXBY(~3K)] EI§B=300kva = * * * * * * * *
FEBFEEME[ DBRED - ~K5E - HEBY(~2)R) ] EAZEE350kva =] * * * * * * * *
FENFEEAE[ D BREN - ~KER - BB (~3K)] EI8E=400kva = * * * * * * * *
FEFEEM GERE) - ~RESEY EISEE2kva =] * * * * * * * *
HEVREBH GBNED . ~REESZEY] EIES=3kva B * * * * * * * *
RENFEEA[ DBREN - ~EERZEL) EEEE5kva =] * * * * * * * *
FEFE[ DEH KRS BB E(1R)] EZBE8kva =] - - - - - - N N
FEBFEEM[ DERE) KRS - HEWEL(1IR)] EISBE10kva H - - - - - - N N
FEFREH[ DEH KRS - HBR(1R)] EAZSE15kva =] - - - - - - N N
FEBFEEM[ DERE) KRS - HEWEL(1IR)] EIEEE20kva H - - - - - - N N
HEFREH[ DEH KRS - HBIE(1R)] EARBE25kva =] - - - - - - N N
FEBFEEM[ DERE) KT - HEWEL(1IR)] EISBE35kva H - - - - - - N N
FHEFEH[ DEH KRS - HBIR(1R)] EARB245kva =] - - - - - - N N
FEBFEEM[ DERE) KRS - HEWEL(1IR)] EISBE60kva H - - - - - - N N
FEFREH[ DEH KRS BB E(1R)] EARBE75kva =] - - - - - - N N
FEBFEEM[ DEREY K5 - HEEL(1R)] EAZEE100kva =] - - - - - - N N
FEFEH] DEFS) KRS - PEEL(1R)] EEBE125kva =] - - - - - - N N
FEBFEEM[ DEREY KRS - HEEL(1R)] EAZEE150kva =] - - - - - - N N
FEFE] DEFS) KRS - PEE(1R)] EEBE=200kva =] - - - - - - N N
FEBFEEM[ DEREY K5 - HEEL(1R)] EAZEE250kva =] - - - - - - N N
FEFE] DEFE) KRS - PEEL(1R)] EEBE300kva =] - - - - - - N N
FEBFEEM[ DEREY RS - HEEL(1R)] EAZEE350kva =] - - - - - - N N
FEBNFEEH D BRED - KBRS - HEEL(1R)] EEBE2400kva =] - - - - - - N N
ZEQUENBHE[ETARC - I3 VBRED - ~BAK - BRSNS (~2)R)] It &E2.0m3/min 0.7MPa =] * * * * * * * *
ZERUEMEHE [ ATARTS - 103" VBRED - ~BAR - RS (~2)%)] It &E2.5m3/min 0.7MPa H * * * * * * * *
ZERUENBHE[ETARC - I3 VBRED - ~BAK - BRSNS (~2)R)] It &E3.5~3.7m3/min 0.7MPa =] * * * * * * * *
ZERUEMEAE [ ATARTS - 103" VBRED - ~BAR - BEXT (~2)%)] It &E5.0m3/min 0.7MPa H * * * * * * * *
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ZERUEABHE[PIART - 10" VBRED - ~ B - HEXT (~2)R)] ItH&E7.5~7.8m3/min 0.7MPa =] * * * * * * * *
ZERUEMEHE[ATARC - I3 VBRED - ~BAR - HEXG (~20R) ] It &£10.5~11.0m3/min 0.7MPa =] * * * * * * * *
ZERUEAEHE[PIART - 1" VBREN - ~KEE - HEXd (~21R)] ItH&14.2m3/min 0.7MPa H * * * * * * * *
ZERUENBHE[BTARC - I3 VBRED - ~EER - BN (~2R)] ItHE17.0m3/min 0.7MPa H * * * * * * * *
ZERUEHEHE[ PIAR T - Iy VBRE) - ~EER - HEXT (~20R)] It =18.0~19.0m3/min 0.7MPa B * * * * * * * *
ZERUENEHE[ATARC - Iy VR ED KBRS - BRI BY(1R) ] ItHE2.0m3/min =] - - - - - - - -
ZERUEHEAE ATARTC - Iy VBN ED - RERES - HEXd AL (1IR) ] it E2.5m3/min =] - - - - - - N N
ZEQUEMEHE[TARC - Iy VBRED KBRS - BRI R (1R)] It E3.5~3.7m3/min =] - - - - - - N N
ZERUEHEAE ATARC - Iy VBRED - RERE - HEXd AL (1)) ] it E&ES5.0m3/min =] - - - - - - N N
ZERUEMEHE[TARC - Iy VBRED KBRS - BRI R (1R)] ItHE7.5~7.8m3/min H - - - - - - - -
ZERUEMEE[ATARS - 10y VBRED - RERES - HETBY(1R)] It &E10.5~11.0m3/min H - - - - - - - -
ZERUEMEHE[ETARC - Iy VR ED KBRS - BRI BY(1R) ] ItHE14.2m3/min =] - - - - - - N N
ZERUEHEE ATARC - Iy VBRED - RERE - HEXT BY(1IR) ] tHE17.0m3/min =] - - - - - - N N
ZERUEMEHE[ETARTC - Iy VBRED KBRS - BRI R (1R)] ItH&18.0~19.0m3/min H - - - - - - - -
ZERUEARHE[AIART - 109" VB ED - ~EER - HEBY (~33R) ] ItHE15m3/min 1.05MPa H * * * * * * * *
ZE QUM TS - T-5-BRED ) HHE2.2m3/min B * * * * * * * *
ZE B[ PR - £-9-BRE] ItHE3.7m3/min =] * * * * * * * *
ZE QUM TS - T-5-BRED ) HHE5.2m3/min B * * * * * * * *
ZE AR AT - £-9-BRE] ItHE6.0m3/min =] * * * * * * * *
ZE QUM TS - T-9-BRED ) 1++H£9.0m3/min B * * * * * * * *
IREND-5 (BTN - 07 hBY - ~ KGR - HEWEY(~2)R)] BE2.4~2.8t =] * * * * * * * *
IREND-S (BRI - 907 hBL - ~KER - HEWBY(~2)K)] BE3.0~5.0t B * * * * * * * *
IREND-5[HEFL- VUM BL- HEBY( 1R - 2R) ] HBE3.0~4.0t =] - - - - - - N N
IREND-S (BT - AV B - ~ARER - HE B (~30K)] BE3.0~4.0t B * * * * * * * *
HREND-S[UM 1M ] B=0.5~0.6t H * * * * * * * *
HREDD-S[OM M K] BE0.8~1.1t B * * * * * * * *
HREND-5(ETA)[I79 000" WM FHEL - KSR - BE(~3IR)] BE11~12t H * * * * * * * *
HAVO—S[~BIK-HEdE - (~2011)] BEE8~20t =) * * * * * * * *
AL vO—S[~iBK- B8 - (~3R)] BE=3~4t B * * * * * * * *
BAvO—S[~E5E- B - (~2011)] BE13t =] - - - - - - N N
O— RO-3[YHEF L ~iBIE - HE38(~21R)] BE10~12t #FEDHE2.1m B * * * * * * * *
FAIPIRIAZyIv [A-NEY - ~EKER - HEXTEY(~2014)] £H%EIF1.4~3.0m =] * * * * * * * *
FAIPIIIAZyIv - NBY - ~{EEE - HEXTBY (~2014)] EHRME2.3~6.0m =] * * * * * * * *
97 -5 [T - BB B (~2K)] 7 V-N1E3.1m =) * * * * * * * *
TERKFRT (BRI 0% 50mm £HBIE 10m B * * * * * * * *
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TSHRAKFRT BRI O% 50mm 2B]E 15m =] * * * * * * * *
TERKFRT (BART) O%100mm 2812 10m =] * * * * * * * *
TERKFRT (BRI O%100mm 25 15m H * * * * * * * *
TERKFRT (BART) OF150mm 281 10m =] * * * * * * * *
TERKFRT (BRI O%150mm 25 15m H * * * * * * * *
TERKFRT (BART) O%200mm 2812 10m =] * * * * * * * *
TERKFRT (BRI O%200mm 245 15m H * * * * * * * *
AEEMEWER[)0-58Y - )L -V E(T] BHESE 1.7t 1tB =] * * * * * * * *
AEEMEMER[J0-58 - )L -VaRiE ] HEHEE 2.0t 1tB =] * * * * * * * *
AEEMUEWER[)0-58Y - )L -V EB(T] HEHES 2.5t 2t =] * * * * * * * *
AEEMEMER[ 058 SlES" V7° - HEG B (~2iR) ] EHEE 2.0t =] * * * * * * * *
AEEIEER /058 SHRES V7 T - BB (~2)R) ] EHEEE 2.5t B * * * * * * * *
o R 180mm H 1,000 1,000 1,000 1,000 1,000 1,000 1,000 0.65
NATHhvE - H 1,620 1,620 1,620 1,620 1,620 1,620 1,620 0.65
Iy he—% 126MJ/h H * * * * * * * *
D hBE IR 6t 1R H | 180,000| 180,000| 180,000( 180,000( 180,000| 180,000| 180,000 1.0
UJ hBE J\>OR 15t 1R H | 198,000( 198,000| 198,000| 198,000 198,000| 198,000 198,000 1.0
D hRE I\ 15t 2 Fith H | 198,000| 198,000| 198,000( 198,000( 198,000| 198,000| 198,000 1.0
UJ hEE J\>OR 25t 2 it H | 206,000( 206,000| 206,000| 206,000 206,000| 206,000 206,000 1.0
BRUBHEM [ - W1y AF] ELET 300A =] * * * * * * * *
AT SvoA>O-R - Fa—t)L] 4 t 1&R H * * * * * * * *
EATVESEER (MY )5RERYT - T -hEY) TRILT v$917° VEZERS 10~ 12mKis B * * * * * * * *
EfkBitEkes (FRPMEHA) 900mm H 7,000 7,000 7,000 7,000 7,000 7,000 7,000 1.0
EfrBiiskss (FR P MEMR) 1000mm H 7,900 7,900 7,900 7,900 7,900 7,900 7,900 1.0
EfkBitskes (FRPMEHA) 1100mm H 8,500 8,500 8,500 8,500 8,500 8,500 8,500 1.0
EfxBiiskes (FR P MEM) 1200mm H 9,100 9,100 9,100 9,100 9,100 9,100 9,100 1.0
EfkBiEkes (FRPMEHA) 1350mm H 9,800 9,800 9,800 9,800 9,800 9,800 9,800 1.0
EfxBiiskes (FR P MEMR) 1500mm B 10,500 10,500( 10,500| 10,500( 10,500 10,500| 10,500 1.0
EfkBiEkes (FR P MEHR) 1650mm H 15,000f 15,000 15,000 15,000 15,000| 15,000 15,000 1.0
EfxBiiskes (FR P MEM) 1800mm B 16,000| 16,000 16,000| 16,000 16,000 16,000 16,000 1.0
EfkBitEkes (FR P MEHR) 2000mm H 17,200| 17,200 17,200 17,200 17,200| 17,200 17,200 1.0
EfxBiiskes (FR P MEM) 2200mm B 19,000f 19,000 19,000 19,000 19,000f 19,000 19,000 1.0
EfkBiEkes (FRPMEHR) 2400mm H 21,000( 21,000| 21,000( 21,000] 21,000( 21,000| 21,000 1.0
EfxBiiskes (F R P MEM) 2600mm H 22,500 22,500 22,500| 22,500| 22,500| 22,500 22,500 1.0
EfkBiEkes (FRPMEMA) 2800mm H 24,500 24,500| 24,500 24,500| 24,500( 24,500| 24,500 1.0
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BB (FRPMER) 3000mm H 26,000 26,000 26,000 26,000| 26,000| 26,000/ 26,000 1.0
EfkBiiRas (DCI PEH) 900mm =] 8,000 8,000 8,000 8,000 8,000 8,000 8,000 1.0
EfBERRE (DCIPER) 1000mm H 8,000 8,000 8,000 8,000 8,000 8,000 8,000 1.0
EikBiRas (DCI PEH) 1100mm =] 8,000 8,000 8,000 8,000 8,000 8,000 8,000 1.0
BB (DCIPER) 1200mm H 8,000 8,000 8,000 8,000 8,000 8,000 8,000 1.0
EfkBiiRas (DCI PEH) 1350mm =] 8,000 8,000 8,000 8,000 8,000 8,000 8,000 1.0
EfBERRE (DCIPER) 1500mm H 9,500 9,500 9,500 9,500 9,500 9,500 9,500 1.0
EfkBiiRas (DCI PEH) 1600mm =] 9,500 9,500 9,500 9,500 9,500 9,500 9,500 1.0
EfBERRE (DCIPER) 1650mm H 9,500 9,500 9,500 9,500 9,500 9,500 9,500 1.0
EikBiRas (DCI PEH) 1800mm =] 9,500 9,500 9,500 9,500 9,500 9,500 9,500 1.0
EfBERRE (DCIPER) 2000mm H 9,500 9,500 9,500 9,500 9,500 9,500 9,500 1.0
EfkBiiRas (DCI PEH) 2100mm =] 11,000| 11,000| 11,000| 11,000f 11,000| 11,000| 11,000 1.0
EfBERRE (DCIPER) 2200mm H 11,000/ 11,000| 11,000/ 11,000/ 11,000/ 11,000 11,000 1.0
EfkBiiRas (DCI PEH) 2400mm =] 11,000| 11,000| 11,000| 11,000| 11,000| 11,000| 11,000 1.0
BB (DCIPER) 2600mm H 11,000/ 11,000| 11,000/ 11,000/ 11,000/ 11,000 11,000 1.0
N yIRo[90-78L - ~EBIEK - HEIBY(~3iR) ] BREEN ybEE 1UFE0.28m3 (F4E0.2m3) B * * * * * * * *
N yoiRo[0-78 - ~ IR - HE B (~3)R)] REEN 1y MEE 1UFE0.45m3 (F4E0.35m3) =] * * * * * * * *
N yIRI[90-78L - ~EBMR - HEXS B (~2011)] BREEN rybESE 1IFR0.5m3 (F450.4m3) B * * * * * * * *
N yhio[0-78 - BEd R (1R - 2)R)] BREN ybEE 1LF80.8m3 (F4&0.6m3) H - - - - - - - -
N yIRI[90-78L - ~EBMR - HEXI B (~2011)] BNy bEE 11F80.8m3 (F450.6m3) =]
N yiRo[0-78L - 1 758/ \hEmI 2L - VB - BE(~2014)] BREN ybEE 1LFE0.28m3 (F150.2m3) H
N yIRI[90-3 - #8758/ INBEE] - ~EBME - HEX B (~3IR)] BREN ybEE 1LFE0.45m3 (FFE0.35m3) =]
N yoiRo[90-782 REEE - IR BY (1R - 20R)] BREN ybEE 1UFE0.28m3 (F150.2m3) H - - - - - - - -
N yoRo[h0-78 KBRS - X B (1R - 20R)] BREN rybEE 1LFE0.45m3 (FFE0.35m3) =] - - - - - - - -
N yoiRo[o0-78L - BB /KBRS - I AL (1R - 2/R - 3IR)] BREN ybEE 1LFE0.5m3 (F4E0.4m3) =] - - - - - - - -
N yoio[h0-78L KBRS - HE BL (1R - 20k - 3IR)] BN JyMEE 11FR0.8m3 (F450.6m3) =] - - - - - - - -
N yoiRo[o0-78S - BBREEES - HE B (LR - 2XR - 31R)] BREN ybEE 1LFE0.8m3 (F4E0.6m3) =] - - - - - - - -
ICTA yIR9[90-78L - Jb-y - ~ IR - HFXIBY(~2014)] BREN ybEE 1LFE0.8m3 (FF450.6m3) MAEESI2.9t =]
ANBICyDiRo[0-7 8L - B/ ViR EIEE - MEER - BRI RY(~3IR)] (RN Sy MEE IUFR0.22m3 (FFE0.16m3) H * * * * * * * *
BNy [H0-5 B - ) iR [E B KBRS - BRI L (10R)] BREEN ybEE 1UFE0.22m3 (FHE0.16m3) =] - - - - - - - -
/NEIBH[YD-5 - #&75#8/)ViEE] - IV ~BIR-BE(~3R)]  [BREN Sy MEE 1UAR0.09m3 (FFE0.07m3) mEES0.9t =] * * * * * * * *
N yIRI[90-78 - hb-y - ~KER - HEXIBY(~3iR)] BREEN rybEE 1UFE0.28m3 (FF50.2m3) MEESIL.7t H * * * * * * * *
Ny o0-38L - Jl-> - ~EBIK - HEXGBY (~2011)] RAE) Y MSE 1UTE0.45m3 (F480.35m3) mAESI2.9t B * * * * * * * *
N yoRI[90-78L - -y - ~EBIK - HEXTBY(~2014)] BREEN JybEE 1IFR0.5m3 (FE0.4m3) MEESN2.9t H * * * * * * * *
Ny o0-58L - Jl-> - ~EBIK - HEXGEY (~2011)] BRENM ybEE 1LFE0.8m3 (F480.6m3) MHEES2.9t B * * * * * * * *
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Ny o[ H0-58 - 1 758/ \EE] - Jb-> - ~EBAR - HE(~3IR) ] =)y NS E 1UFR0.45m3 (FF50.35m3) REESI2.9t [=] * * * * * * * *
N yoRI[90-58L - D -IHEREAT KBRS - BEWEL( LR - 2)R) ] =H#)\ ybEE 1UFB0.45m3 (FFE0.35m3) MAES2.9t =] - - - - - - - -
N yoto[o0-58 - Hl-JkRedt - EBIRERE - HEWEL(1-31R)] Ny NS E 1LUAR0.45m3 (FF80.35m3) MHESI2.9t =] - - - - - - - -
Ny oo o0-38 - JU-VRRedt - BB /IRER S - HExt (1-3)%)] =)y VS8 1LIAE0.8m3 (F4E0.6m3) BHEEF2.0t =] - - - - - - - -
INBU Y9 [H0-58Y - ~BIR - BB B (~30R)] ZH)\ hy MSE 1UFE0.11m3 (FFE0.08m3) = * * * * * * * *
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